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(A)256
(B)24
(C)8
(D)16
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(A)cat
(B)du
(O)ls
(D)rm

(B) 3. TR G AE FHEPR Y
(A)GIF
(B)JPEG
(C)TIFF
(D)PNG

(A) 4.CSS %% "mycss: hover{color: #0000FF;} |, # 7 i%42i %~ F e 4k T
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(A)F B4 T2 5 1
(B) i RFRALR
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©) 5.1 A% C eptit * chifk & Reptp § 7
(A)255.0.0.0
(B)255.255.0.0
(C)255.255.255.0
(D)255.255.255.255
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(C)  6.72 24000 BPS it it & + {1 Mbytes e ¥ i« 5% & 5

(A)250 #;
(B)300 #;
(C)350 #/
(D)400 #;

(A) 7. FEAF(SSD) 5 ATR g m kA > T AR 2 AH A K

(A)SCSI
(B)PCle
(C)M.2
(D)SATA
C) 8-&az > TrllPE R TERRE?
(A)Python 3% %
(B)e&iF
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D)C#F3
(D) 9.#EEFF XYY/IZ Bt A4A1 509
(A)/*XYZ
(B)YXYZ */
(C)*XYZ/
(D)XY*Z/
(A)  10. ™ 7| & 47 ;N #5 (pseudo code)s, 7 145 0 sum ehiE 5 @ 2
int sum=100 ;
for (inti=3;i < 10; i++) sum=sum+i;
(A)142
(B)152
(C)154
(D)155
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